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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O PRI T foray
(a) What is gross national product?

T TR Teerr e o

(b)) Mention one problem faced in national
income accounting.
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(c)

(d)

(e)

(9)

h)
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(2)

Mention one limitation of Keynesian
theory.

(IO ©GT 91 Sirae! Sy T4 |

What is aggregate supply function?

YT I T 9

Mention Say’s law of market.

6’7 IoE [0 Sray w41

What is
consume?

marginal propensity to

TS o181 2gere 49

Mention one limitation of Keynesian
consumption function.

PO (S19% T BT TRms! Semd 947 |

What is marginal efficiency of

investment?

Rffcmsr A srimse & 2

( Continued )

(1)

2. Answer the following questions :

(3)

Define supermultiplier.
S eepq weer frgr |
What is accelerator?

59E 2

2x5=10

I PIRT ed fory

(@)

(b)

()

(d)
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What is circular flow of income?

E9 Ty o1 2

Define effective demand.

&y wifEwE See oy |

Mention two technical attributes of
consumption function.

C19l T ol AT @91 Teary 4

fention two leakages of the multiplier.
G B T Sy 9 |

Distinguish between gross investment
and net investment.

A fifcae o wm RREeR TEw e
fefy <ea |
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(4) (5)

3. Answer any four from the following (i Distinguish between autonomous
questions : 5x4=20 investment and induced investment.
OO 2PTRRA 1 AT BIfREA T fors sl Rt W wanfe Rfvame TeE

{19y e 40
(a) Explain the relationship between

(b)

(c)

{d)

(e}
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national income and economic welfare. ) y
4. Answer any four of the following questions :

AT W SE AT TR AR T 10x4=40
4 4 O 2Ped A i e o
Explain the product method of fa) Distinguish between the following :

computing national income, 4+3+3=10

oS AT e wA1efey Fefy 4

(i) National income at market prices
and national income at factor cost

T S ST BRATE AmSCHT 0T 40|

How did Keynes criticise the classical

theory of employment? TEH NS I T WF TR IR

R SREPe ©9h @3 BT STRED T =

fafes ? (ij) Net national product and net
domestic product

Explain the factors that influence B S W T 99 e

consumption function,
(iii) Disposable income and personal

(1S T ASHIES 1 FRTR TR 340 | income
R S S Gieso =y
What are the determinants of marginal
, e :

elisicncy o eepiali ey, (b) Discuss the classical theory of
T AT FRvEer fReT & &2 employment. L0
791 | s SIS Sgeh! SCaw= T4 |
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fc)

(d)

(e)
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( 6)

What is investment multiplier? Explain
the working of the multiplier. 3+7=10

Rz gas 6 0w sl ey @ |

(i) Discuss the relationship between
marginal efficiency of capital and
marginal efficiency of investment.

T difge srfmeel wie R
dfE PEFFeR TER e el
4 |

(i) Define average propensity to invest
(API) and marginal propensity to
invest (MPI). 6+4=10

GECIOE I R R Tl

Explain the importance of measuring
national income. What are the
difficulties faced in calculating national
income in underdeveloped countries?
Discuss. 4+6=10

TER S S @FE T 9| G (P
G A s S F R epiRe e 2T
=1 2 7 e 7 |
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(7)

State and explain Keynes’ psychological
law of consumption. What are the
implications of this law? 2+4+4=10

(P A NE Togen RRG o o9
S GET [0 G REGE FRe wbnz &
f6 2
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